(DHe is a big jack-o-lantern.
He is happy.
He likes bats.

And it's sunny.

(®He is a big jack-o'-lantern.
He is happy.
He likes spiders.

And it's sunny.

@He is a big jack-o'-lantern.
He is sad.
He likes bats.

And it's sunny.

@He is a big jack-o'-lantern.
He is sad.
He likes spiders.

And it's sunny.
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| @He is a small jack-o'-lantern. | (@He is a big jack-o-lantern. | @®He is a small jack-o'-lantern.

| He is happy. | He is happy. | He is happy.

_ He likes bats. _ He likes bats. _ He likes bats.

! And it's sunny. ! And it's raining. ! And it's raining.
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(®He is a small jack-o'-lantern. (DHe is a big jack-o-lantern. (®He is a small jack-o'-lantern.

He is happy. He is happy. He is happy.

He likes spiders. He likes spiders. He likes spiders.

And it's sunny. And it's raining. And it's raining.

(OHe is a small jack-o'-lantern. @DHe is a big jack-o-lantern. @He is a small jack-o'-lantern.
He is sad.
He likes bats.

And it's raining.

He is sad.
He likes bats.

And it's raining.

He is sad.
He likes bats.

And it's sunny.

He is a small jack-o'-lantern. @ He is a big jack-o-lantern. @®He is a small jack-o'-lantern.

He is sad. He 1s sad. He is sad.

He likes spiders. He likes spiders. He likes spiders.

And it's sunny. And it's raining. And it's raining.
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